TraiL BLazer Heaper TRANSPORT

UPDATE KIT

MacDon FD2 Extension Kit

For TB-6000-48

TB-8000-48
Use kit number JM0082232

For TB-6000-32
18-6000-38
18-6000-42
18-8000-32
18-8000-38

TB-8000-42
Use kit number JM0082213

Rev. 3.2.2023

J&M Manufacturing Co, Inc

284 Railroad Street - P.O. Box 547 | Fort Recovery, OH 45846 | Ph:(419) 375-2376 | Fax: (419) 375-2708

wWww.jm-inc.com




MacDon Extension for TB

Description Part No.

1| Upper Bar Clamp (4x8) (UBC-3) IMooo30s1 | Picture below shows the suggested set
2 [1/2"13 Gr5 Z SF Hex Nut JM0002153 | up for your FD2 MacDon header.
3 | Lifting Arm 10" Extension Weldment JM0079958

4 [3/4"-10 x 2" Gr5 Z Hex Bolt JM0002106

5 | Lifting Arm with Gusset Weldment - 60" Hole Spread (4WS) JM0080106

6 |3/4"-10 Gr2 Z Nylon Locking Hex Nut JM0026756

7 |3/4"-10 Gr5 Z SF Hex Nut JM0009921

8 | Upper Bar Support Arm (UBSA-3) JM0003077

9 |3/4"x8"ZL Pin (Header Wagon, c450) JM0029738

10 | 3/16"x 2-1/2"Hair Clip Pin (316HP) JM0001657

11 |3/4"-10 x 8" Gr8 Z Hex Bolt JM0080110

12 | MacDon FD2 Lifting Arm 10" Extension Assembly JM0080137

13 | Angled Knee Brace Bolt On Lower Weldment JM0080352

14 | MacDon FD2 Long Knee Brace Turnbuckle Assembly JM0080221

15 | Short Angled Knee Brace Clamp Lower Weldment JM0080200

16 | TB-48 MacDon FD2 Lifting Arm 10" Extension Assembly Kit with JM0082232

Long Knee Brace
17 | TB-32,-38,-42 MacDon FD2 Lifting Arm 10” Extension Assembly Kit | JM0082213

2



